E°
Bl = <
2(g) +2e 2 FIF 7
* +2,
Oy +2 Hy0' + 2 0,9 +3 1,0 !
520§' +2 HBOH L oe 2(_9)2 3h; +2,07
2 5047
H,0, +2 HBOH +2€ 4H é) +2,00
PbOZ(V) + HSOL;' +3H o + 2o PbSZO +1,78
Man" +4 H,0" E e 4v) +5HO0 +1,69
2 HCIO + 2 H3 o+ T MnO, + 6 H,0 +1,68
2 BFOBI' +12 I?I o + 10€” Clz(g) * HZO +1,63
MO} + 8 H3(3)1+ o Br22+ 18 H,0 2
PbO, ) + 4 H,0™ e Mn?* +12 H,0 +1,49
Ced* ’ ° Pb**+ 6 H,0 +1,46
BrO!” + 6 H,O! ne Ce3" +1,44
+ - N ) ,
Au}g 3 + 6 e- Brl + 9 HZO a ](44
+3e
Cl, + z e AU(V) I +1,42
N 2 CI"
Cr20§ +14 1-13()1+ e Gl o i +136
2 HNO, + 4 HBOI+ +4e N 2 +1,33
Oy +H,0 +2€ 0@ *+7H;0 +1,27
Oz(g) + 4 H,0™ + 4€ Oz(g) % EICkE +1,24
Mnoz(v) i i H,0" + j - SLED +1,23
Pt2* ’ © Mn® + 6 H,0 + 1,21
+ 2€ !
2108 + 12 H,0" ' 10 Pte) +1,20
10"+ 6H 031+ ) I +1g H,0 +1,19
3 3 + 6e Ii- +9 H0
Br 2 +1,09
b & B 2 Brl
AuCli r3e N + 1,07
HNO, + H,0 4 1en Augy) +4Cl +0,99
NOj™ + 4 Hy0" 2 pI& NO(g) +2 H,0 +0,99
NO;' +3 H;OI+ +2e No(g) +6 H0 +0,96
2 Hg? +2e HNZ?Z & g +0,94
H.O x ng + 0,01
272 + 2¢€ 2 OHI-
He?” + 2€ | +o8
Pd2* Y e Hg(vl) E +0,85
NO3" +2H.O™ Ry Pd(y) +0,83
Agl* : iy NOZ(g) +3H,0 + 0,81
+1e
g +26€ A% j oo
Fe3* ) 2 Hgy)) +0,79
) + 1e Fe2+
PtC]j + 26 . 1 + 0,77
Oz(g) +2H. O™ e Py +4 0l | +0,73
Mno'- + 2%_[ 0 e H,0, + H,0 | +0,68
MI’]O‘;" ’ ’ : MnOZ(V) +4 OH" ,| +0,59
4 +1e Mno2* |
] . 4 + 0,54
2 + 2€ P
cu'™ . . +0,54
H,S0, + 4 H,0" ge Uiw) +0,52
3 _ S(y) +7H0 +0,45
Oy +2 H,0 +4€ OHI"
Fe(CN)} . 4 +0,40
6 i 1€ Fe(CN)4"
Ag,0+H)0 4 se +0,36
Cu + 2€ 2 A%y + 2 iy +0.34
€ Cu
Hg,Cl . V) +0,34
22k — 2 Hgp +2CI" +0,27

TABEL: NORMPOTENTIALEN (E°) VAN REDOXKOPPELS (298 K) -




)
N~

AgCley) + 1€ Aggyy +CI” +0,22
HSO"" +3 HBO“ + 26 50,(g) + 5 H,0 + 0,20
Cu?* +1e Cul* +0,16
sné* +2e Sn2* +0,I5
Sy +2 H3OI+ +2¢€ HyS¢p + 2 H,0 +0,14
5405' +2€ 2 52032' + 0,10
AgBr(y) +1e Ag(y) +Br"” + 0,07
HCOOH + 2 H3O“ +26€ H,C0 +3H,0 + 0,06
NOj +H,0 +2€ NOJ™ +2 OH" + 0,01
2 HJOI+ +26e H, +2H,0 0,00
Fe3* +3€ Fe( - 0,04
Pb2* +2€ Qib(?D -0,13
Sn2* +28€ SA(y - 0,14
Oz(g) +2H,0 +26€ H,0, + 2 OH" - 0,I5
Agly + 1€ Agey + 11 - 0,15
Ni%* +2e Nigy) - 0,23
Co?* +26€ Cogy) - 0,28
Pb504(v) + 2€ Pb(v) + SO‘%_ - 0,36
Cd?* +2e Cdgyy - 0,40
Fe?* +26€ (Fem':‘ - 0,41
Cr3* +1e Cret - 0,41
NO;™ + H,0 +1e NOg) + 2 OHI - 0,46
2 CO,g) +2 HBOI+ +2€ (COOJH)2 +2H,0 - 0,49
S +26€ §2 - 0,51
Cr2* +2e Crey) - 0,56
Cr3* +3e€ Crey) - 0,74
In®* +2€° ) -0,76
2H0 +2€ Hyg +2 OH' -0,83
HSO‘{' + I-IBOI+ +2e SO?' +2H,0 - 0,92
Mn?* + 26 Mng, - 1,03
Nz(g) +4 H,0 + 4€ N2H4 + 4 OH" - 1,16
Zn(OH)j' +2€ ng,y + 4 OH" - 1,22
AB? +3€ Algy - 1,66
Be?* + 26 Begy) - 1,70
Mg?* +2€ Mg -2,38
Na* + 1€ Nag,) - 2,71
Ca?* + 26 Cay) - 2,76
Sr2* + 26 STt - 2,89
Ba®* +2e Ba, - 2,90
Cs™ +1e Cs(y) - 2,92
K™ +1e Kw) - 2,92
Rb'* + 1€ Rby) -2,93
Li'* + 1€ Ligy) - 3,02
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